Before start, please carefully read the explanations!

Sport jet Voyager 128"

QR

L e i S— AT R e VS g THRSTRI AR
T bt = =-s e e

. il

Length: 3253mm/128 in

Wing Span:  2790mm/110 in
Turbine: 18--26kg

Radio: Min. 7 Servos required

C.G: 280mm from the leading edge of wing root.

INSTRUCTION MANUAL

- B
This R/C arplane is not a toy!

{The people under 13 years old is forbidden from flying this model)
First-time builders should seek advice from people having building

expenience.If misused or abused it can cause serious bodily injury
and damage to property.

S‘AF ETY PRE CAUTIDNS Fly cnly in open areas and preferably at a dedicated R/C flying site.
We sugpest having a gualified instructor carefully inspect your
ainplane before its first flight Please carefully read and follow all
instructions included with this airplane, your radic control system

and any other components purchased separately.

TopRCModel-USA.com



REQUIRED FOR OPERATION (Purchase separately!)

A CAUTION: For details concerning the equipment listed below : B]  sponge Sheet Gasoline tube Fuel Filter
(size, maker, etc.), check with your hobby shop. | =
-~ o | o S ) =
1 A minimum 6 channel radio for airplanes (with 8 servos), . b}.-_.xﬂ
and dry batteries. :
E Glug  Instant Glue Epoxy Glue g @EJE
! = -
CAUTION: Only use a minimum 6 channel radio for airplanes! : @3@
(Mo other radio may be used!)

& channel radio for aiplane is highly recommended for this model. | |

5 Optional electric retract set

F-
12 AA-size Batteries A minimum 6 channel transmitter If__,l;'f

BED " &

=

For handling the radio properly, refer to its instruction manual.

Engine and Muffler ,
W |
Model Airplane Engine 18-26KG Turbine 4{ .

.
TOOLS REQUIRED (Purchase separately!)

Sharp Hobby Knife /= ommm—— mmk Phillips Screw Driver (I, m, 8) = S - Aw| ————— ——

Needls Nose Pliers %Ef = Wire Cutters { Scissors '“—_?____‘?(___{—@
e N = O

BEFORE YOU BEGIN

F -e Ilili-ii-lililit

Read through the manual bafore you begin, so you will have an overall idea of what to do. : :
8 Donotoverlookthis g
' Symbol! :
Check all parts. If you find any defective or missing parts, contact your local dealer. = :
]
. :
B Symbols used throughout this instruction manual, comprise: : A :
: :
1
n We strongly recommen you use the thread lock for all the screws when you build your model. fssssssessassssnssns
@ m Drill holes with the Pay close attention Vlﬂ Assemble left and right
1 Apply epoxy glue, specified diameter (2mm), Cut off excess. here! sides the same way.
:ﬁ Apply instant glue P_:- —1 . Ensura smu-uﬂ] nen-binding Must be purchased
(CA glue, super glue). Cut off shade portion. [ movement while assembling. separately!

TopRCModel-USA.com



Voyager accessories

TP Screw (2.3xBmm)

e s 2

TP Screw (2. 3x12mm)

Socket head screw (3x12mm)
i

Socket head screw (3x16mm)

Hew serew Lo ddmimd oo oo

Blind nut (3
T L et s, SO

@
@ Bush (3x &6mm)
@

Bush (5x12mm)

e Big clevis { 3mm) -14
Big h 3
glsnmimml ___________ 14
Push rod { 3x65mm)
= W - -- oo 4
Push red {3x113mm]
% rrotemrrmrsarrTiEen eI 3
Alu wing bolt 1
AA0x1200x2.5mm) 1
Alu wing bolt 2
..... AR IRRR I, e
Fuselage joiner
~ (14x230x1.2mm) 2

Stabilizer joiner 1
(14x21lexl.omm) 2

Stabilizer joiner 2
(20x%370x1.2mm) 3

Vertical bolt 1
_____ (16x245x1lmm) 1

Vertical bolt 2
(20x370x1_2mm)

Servos acceEssories

| Lracket ( 25%20%3 )

(EEEERERE -..:ccosciasssssssissssssesssimsscdessassssssasisis 16
Mushrnum h:l-m:l. 5mw{3xl U‘.I:I:I:III.E
_ Blind nut (3mm ) g
Bush (3x 6mm)

(@) - g £

Landing zear accessories

_TP Screw (3x14mm) 12

I@ __Alu part for landing gear 4
(D .-

@ -

I

Socket head screw(3xBmm) g

Encl-:et h-ead su'ew{.’.!xl Dmm] 3

~ Blind nut (2mm } 3

~ Bush (2x 6mm)

Bushroom head screw (3x1 Omma)

@ Blindnut Gmm) 4
i} Bush Gx6oum) 4
= Plastic swing keeper 2
j_r"' Mose gear door parts 4
e i dlens ) o

-, Funltnnk(ﬂq?xllﬂmmj b |

r\-—v—:-L 4 F‘u-l Ilnhfl'tr_'w\u-ud ["_":l_?_?l’.?_ﬂ'!‘!‘l.l‘_l? ?3

e,
JU : Iiain wheeal doors =

3mm ply sheat 1x1

i

r | 3oun ply tail tube frame 1

A
L

TopRCModel-USA.com



1. Apply AB glue to the slots in the ailerons, flaps and
assemble the horns into them.

4. Assemble the landing gear to the gear mount .

L —

2. Assemble the servos of the wings and Connect the fiber
horns to the servo arms with the linkage and locked each
side with screws and locked nuts.

3. Test the landing gear to workand confirm the position of
the hole on the gear mount .

6. Glue hinges to the rudder .

TopRCModel-USA.com



7. Glue the rudder to the vertical fin, trim a slot for the 10.Trim slot and glue the horn to the elevator, connect
servo and assemble the servo into the vertical fin as picture . wht horn and the servo arm as below .

8. Connect the servo arm and rudder horn . 11.The work on the stabilizer are ready .

9. Trim slots at appropriate position on the stabilizers and
assemble the servo to the stabilizer .

TopRCModel-USA.com



13.Assemble the nose landing gear . 16.Assemble the tanks to the fuselage .

17.Assemble the engine and smoking tubes in the center
fuselage.

15.Prepare the fuel tank and smoke tank.

TopRCModel-USA.com



20.Install the battery, controller, receiver and other

19.Fixing the tail fuselage to the center fuselage .
1xing 1l fuselag uselag devices to appropriate position in the nose fuselage .

21.Assemble the canopy, wings,vertical and stabilizer to the fuselage, the pictures after everything assembly great and ready
to fly .

=
n
—
—

T

TopRCModel-USA.com



22. Adjust the travel of each control surface to the values in
the diagrams. These values fit general flight
capabilities.Readjust according to your needs and flight
level.

23. Adjust the travel of each control surface to the values
in the diagrams. These values fit general flight
capabilities.Readjust according to your needs and flight
level.

FLAP

AILERON

Bl Simm
-

=,
—

e S0mm

ELEVATOR

RUDDER

24.Check all the datas well. make sure all sections glue
tightly. Otherwise if coming off during flights, you'll lose
control of your airplane which leads to accidents!

25.C.G: Never fly before checking the CG's required
position. Never fly the model without well balancing.

TopRCModel-USA.com






